Assessment for the Advanced Travel Information System by Network Equilibrium Analysis
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[MUSE/VICS-Demand]

VICS Nested L ogit
VICS
1) / Min: z(x f,,q°)
/ =8 St wdws § =& & 15 In(15700)
2) al A 9=120y rs K K,
1o & w
- E% Q (In _rS - +a)dw
st. & f5=qs, rTR'sS, g=12
VICS ik
CVM aad=q,, riR'sls, g=12
g=1,2
Xa :é é. é fgr,skdar,sk' ' aT A
VICS rs ki K, g=12
q30, ' rI R'sl'S, g=12
fre20, "kl K,,'rT R'sT s, g=12
VICS [MUSE/VICS “fqf T <OD
-Demand]
g
VICS g=2
CVM 0<qg,<q,® +¥
VICS
[MUSE/VICS-Demand]
VICS
a, ab
VICS (b) VICS
VICS /
gu0)
rs 2001 10 VICS
2(b)
P2|rg = expLS; ] 1) 2)
expla+ b5, ] + exp[ S "] 3
ITS

860-8555 2 39 1

TEL096-342-3541 FAX096-642-3507



1000 VICS

TR
9% [ — 5
80% [ —
70% — —
60% [ —
500 [ —
40% —
300 [ — U
200 — —
10% — — \% €
OA) 1 1 1 : +
s U=v(d,Y,Q) +e
d 1 Y
Q VICS

() _uUni
60000 VICS C VICS-unit
50000 o — VICS
40000 — = Q Qe
30000 |— C "Y'

Pr(Yes) =Pr(DV(C) 3 e, - e,)

20000 |—
10000 |— —E
0 : : DV(C)=V(LY - C,Q9-V(0Y,Q)

C
Pr(Yes =1/[i+e>©|
VICS DV (C)
VICS DV(C)=a - bInC
4 VICS
WTP =exp(a / b)
VICS
1,190 t
VICS
DV(C)
2 312 DV(C)=a- b,InC+bt
280 VICS-unit 7
"No” 3
VICS "Yes' 9 5,000
VICS
VICS

32,894 30,000 5 OD



37,122 35,817

[MUSE/VICS-Demand]

qQq a b
qg q2 +¥ ql
VICS Logit
(o}
a, Logit
3,638
1,299 186
PT
50
a,
RMSE
g,=0.26 RMSE
CVM VICS-unit
WTP VICS rssOD
SZ(b)
rsOD
VI’S
Vrs = VWYS + SI'S
W, Y
S, rsOD
\"
VICS (a rs-OD
VA
VI =W 4+ S
VICS VICS-unit VICS
V 2(b)
VICS-unit WTP,
W -WTP,  VICS

—=— RMSE —

3630 0.762
3620 4 0.76
3610 1 0.758
3600 [ 4 0.7586
w3590 | 1 0.754
=
3580 [ 4 0.752
3570 1075
3560 4 0.748
3550 0.746
0.1 0.2 0.26 0.3
RMSE
SZ(b)
v 2P :V(\N(a) -WTP )+Sz(b)
WITP VICS
WD +S19 = VW - WIR, )+ S2V
WTP,
Srzs(b) = V>\NTPrS + Srléa)
WTP CcvM
VICS S®
VICS Logit
[MUSE/VICS-Demand] S CvM
VICS
a b
a b
Step-1 a b a® poO n-0
Step-2 a™ pm [MUSE/VICS-Demand]
SO S p2rs)

Step-3 2GS gy 510 (yawTP, + 510
P(2]|rs)

P(2|rs) S a®™ pw
[MUSE/VICS-Demand] WTP,
Sl(a) a

b a b
Step-4 |a®™-dEe, |b"-biEe
a®=a b"™=p n_ontl

Step-2



[MUSE/VICS -Demand] t

WTP, 2001 10 2904 293

VICS 077 6.14

a=0 0.026 191
b 5 37,122
b =0.0169 35817
day-to-day  VICS 052
113
s=1 aa. In[e<p (a + ks}ﬁb)) +exp (st(b) )]
b<% t
VICS 0.39 137
0.0031 0.03
0.04
vICS 194
78.8 1,666,002/
15 1 3,000 4,613 R 2627
v=2554 |/ 1 VICS 200 /
VICS
CVM VICS
VICS-unit WTP
VICS VICS
VICS [MUSE/VICS-Demand]

S=3 q. WIPgt, ) xP(t )

g, rsOD
WTPgt,) rsOD t

A (WTPGt,) xd/(1+1)"*} =WTP(t, )

WTP(t,)
N d
002 5 200
P(t,) rsoD VICS VICS

VICS

VICS 1



